Graphs Using Intercepts
x-intercept - the x-coordinate of a point where
the graph crosses the x-axis; wherey = 0.

y-intercept - the y-coordinate of a point where
the graph crosses the y-axis; where x = 0.

\ZX +3y =6 x-intercept
-intercept ———— /
O/D \> \\ K._-E‘l O}

Graphs Using Intercepts

(a) Use intercepts to graph the equation
4x + 3y = 12.
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Graphs Using Intercepts
To graph using infercepts:

1.) Find the x-intercept by replacing y with O.
(show this work!) Graph that point.

2.) Find the y-intercept by replacing x with O.
(show this workl)Graph that point.

3.) Draw the line through these points

Graphs Using Intercepts

(b) Use intercepts to graph the equation
2x + By = -10
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Werite an equation of the line that ig parallel $o Wr‘i'nal an equation of the line that ig perpendicular lTo

y=-x- Saand passes through P(-3,6). y= Ex —laand passes through P(-3.6).
allse slope-intercept form. aUse slope-intercept form. .« =y,
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e) Write the equation of the line, in standard
form, perpendicular to 4x-5y=21 passing
through (4,-6).
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